
Duo aftreksommen tot en met 20 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

 

 

8  15 – 7 =  

7 16 –9  =  



Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

 

 

 

 

6 14 – 8 =  

=  =  

5 12 – 7 =  



Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

 

 

 

 

9 18 – 9 =  

=  =  

4 13 – 9 =  

=  =  



Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

 

 

 

 

3 11 – 8 =  

=  =  

4 12 – 8 =  

=  =  



Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

 

 

 

 

6 13 – 7 =  

=  =  

9 17 – 8 =  

=  =  



Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

 

 

 

 

8 14 – 6 =  

=  =  

7 12 – 5 =  

=  =  



Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

Ik heb 
 

 
 

 
Wie hoort er bij mij? 

 

5 13 – 8 =  

=  =  


